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@ E—6_ |JIAREE 0.13 0.12 0.13
@ B—5 |FEEH#E 0.12 0.15 0.14
©) c—6 |F=EIREH 0.12 0.12 0.12
@ B—6 |#FIFREE 0.24 0.26 0.21
® cC—7  UDHEENER 0.18 0.17 0.16
® F—4 [JIIB/IER 0.14 0.10 0.11
@ D—5 [EEE/IER 0.13 0.14 0.13
® D—4 [FAXR/NEK 0.16 0.17 0.13
©) B—6 |R/IER 0.18 0.17 0.14
) C—5 |FEEE—dER 0.14 0.11 0.12
@l D—7 |FEE_hPi 0.18 0.17 0.17
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M BEHREREREE (FR25%2H8H ~12H BRE)
NO EEIE%IFFE% 1 ﬁ&%‘]ﬁ%i( U SV/h) 9{1'?&7“6:8
cm 50cm 1.0m
1 A—4 HAIHEAO 0.53 0.53 0.54[2Y (FEE 20cm)
2| B—3 [MIAMXKIEE 0.59 0.48 048|E (FFE 5cm)
3] B—4 |[E/RIEAHE 0.62 0.44 039|EF (FFE 3cm)
4 B—-5 [HEAREE 0.48 0.44 042|E (FEE  1cm)
5 B—5 |AbhAREE 0.44 0.41 0.40 E
6] B—5 [ERGERM) A 0.58 0.38 031|E (FEE  3cm)
7 B—5 |XK(EFRR)fHE 0.46 0.43 035[F (FBEE 3cm)
8] B—5 [EFEZMER 0.73 0.50 042|F (FEE  1cm)
9 B—6 |THHALAREE 0.68 0.44 0.37 Eh
10 B—6 | T/ 0.33 0.25 0.27 ED)
11 B—6 |[FENMERSEDO(FD) A 0.66 0.41 0.36 =
12| B—6 |HREUBFEFF) & 0.37 0.34 032|EF (FE 10cm)
13] B—6 |filAifhi 0.79 0.54 0.45 D)
14 B—6 |FHEME 0.67 0.45 0.40 Eh
15| B—6 |HOREAREERI 0.57 0.50 048|E (FFE 3cm)
16/ B—6 |X(CKIBEEEih) 0.52 0.35 032|EF (FFE 5cm)
17 B—7 |/MNEHEFRIR EXTENEFi) 0.58 0.44 0.38 Eh
18] Cc—3 [hFAZEMERAO 0.29 0.37 0.39|F (JE  S3cm)
19] C—3 |#%/Afr=Hitm AOfHha 0.41 0.40 0.36 =
200 C—4 [(EROWLUMA 0.69 0.48 0.41 E
21 C—4 | FEXUBFHFEEMIT) 0.35 0.30 0.26 5
22 C—4 [FXR#EHhE 0.52 0.39 035|F (FEE  2cm)
23| C—4 [HXTI—2A2o (BE) (1) 0.28 0.28 026|F (FEE  1cm)
24| C—5 |BEEARfE 0.38 0.42 0.39 5
25 C—5 ITES XD 0.50 0.45 043|F (FEE  5cm)
26 C—5 KER 1.46 1.24 098|F (FEE 1cm)
2711 C—5 |TFHREEHMNK 1.05 0.62 0.40 E
28] C—6  |5OoFELE 0.48 0.42 0.40 ED)
29] C—6 | EFFHLNAELER 0.52 0.41 0.38 Eh
300 C—6 |[HBUIEXFE#AO 1.27 0.78 0.56 =)
31 C—6 |[BlIZEMEKMEFEER 0.56 0.54 047|E (##E 30cm)
32 C—6 [LATULAER 0.70 0.44 0.35 ED)
33 C—6 |ME&AGE 0.55 0.39 0.36 ED)
34| C—6 |FEIREEEHEGEZTH 0.58 0.55 0.48 ED)
35| Cc—6_ |IUTRittE 52— HEAH) 0.34 0.30 0.25 D)
36| C—6 |WWTESEELEA 0.62 0.49 0.45 ED)
37 c—7 INAINAY BT 0.65 0.54 0.46 BEh
38 C—7 | KELXREGE) 0.94 0.64 0.52 Bh
39| c—7 |!NEEREER 0.61 0.38 0.33 BEh
40 c—7 {E#8FE BRI T ZEih 0.53 0.41 0.36 BEh
41 C—7 |EMFEBAmMMMTIA 0.81 0.59 0.53 BEh
421 Cc—7 [HPILEEAHE 0.80 0.60 0.50 BEh
43| C—7 |[EhEH (Ei#HIZ) 0.30 0.35 0.38|BEN(FEE  7cm)
4| C—7 | KEHIFrfHE 0.91 0.48 0.43 Bh
45| Cc—8 |BARGHFE) 0.52 0.59 0.51 BEh
46| D—2 |J1—rvybkGCAO 0.35 0.39 0.32 (#E 10cm)
47 D—3 [|[BPAFE®E 1.76 1.01 0.90 E
48 D—3 |HREAREME 0.42 0.44 0.39|F (FEE 15cm)
49 D—4 |SBHEfrfhiiE 0.40 0.38 0.32 5N
500 D—4 |EB4EiE/AMA 0.30 0.35 0.32 5
51 D—4 | EPXRLEEE 0.36 0.40 0.34|F (FEE  8cm)
52| D—5 |FhEEE 0.72 0.38 0.28 Eh
53] D—5 [BEE/INER (BTEIZAED 0.58 0.35 0.30 5
54| D—5 |EB4EAREERI 1.08 0.75 0.57 Bh
55| D—5 |IHEM2REERI 0.59 0.49 0.40 BEh
56| D—5 [BEOBAOfhAE 0.40 0.33 0.30[BENn (k.  10cm)
57 D—6_ [IFAERVINISUE 0.15 0.14 0.15 =)
58 D—6 BFA—TUNE 0.27 0.21 0.18 =)
59 D—6 | EiFOFEHNA 0.50 0.37 0.34 =)
60 D—6 Hir A+F& 0.62 0.53 0.44 =)
61 D—6 |[FERBGEEA 0.80 0.67 0.56 ED)
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NO EEIE%IFFE% ﬁ&%‘]ﬁ%i( U SV/h) 9{1'?&7“6:8
1cm 50cm 1.0m
62] D—6 |AFEEEKS 0.37 0.45 0.44[2Y (FEE 12cm)
63] D—6 |EEW=—a—4o2 (KE) 1.20 0.73 0.58| Y (EE  5cm)
64 D—7 | tHELAREFME 0.39 0.34 0.34|F (FEE 10cm)
65| D—7 |EBHERBEENE 0.19 0.20 0.22|ZY(FESE  1cm)
66] D—7 [/WEHEEH#RA 0.99 0.73 0.59 £
67 D—7 |E)llihis 0.72 0.49 0.42 =)
68] D—7 |ERLLEX400mIE (il 0.40 0.35 0.34 =
69| D—7 |EHFEERADO 0.62 0.52 046|E (FFE 10cm)
70 D—7 LHEAREMR 0.52 0.40 0.35 ES
71 D—7 [vwIBEHIEFR I 0.48 0.46 0.41 =l
72 D—8 TE) (HFE) 0.28 0.30 0.30 =)
73] E—2 |WFHEfHE 0.45 0.35 029|E (##E 30cm)
74| E—2 |E&F(HERFR 0.25 0.28 031|E (FEE 20cm)
75 E—3 |BOEQMIgEA 0.52 0.49 0.44 Eh
76 E—4 |EBEREARLER 0.28 0.25 0.27 Eh
77] E—4 [IHEOR. KRR 0.46 0.38 0.35[FEn (FHE  1cm)
78 E—5 [FIRF LA 0.28 0.31 0.27 Eh
79| E—5 |#EReifha 0.39 0.31 0.26| BN FEE  1cm)
80 E—6 — DX A 0.73 0.51 042|F (}EE 5cm)
81 E—6 | EEFE=F1MmFE 0.68 0.49 0.45 E
82 E—6  |/NEEHI~ T AH#A 0.69 0.65 0.52|F (FEE 25cm)
83 E—6 |[RKEBOEYISUE 0.60 0.57 054|BEN(BEE  5cm)
84| E—6 [BEECGEFHZRAO) 0.41 0.46 0.44[2Y (FEE 23cm)
85| E—7 [FpFBREEZEMR 1.23 0.83 0.62[ZY(FEE 15cm)
86| E—7 [FEFISRIZEHI 0.49 0.42 0.40[2Y (FEE 20cm)
87] E—7 |HRAREERI 0.23 0.23 0.22 ED)
88] E—7 [BERARERITFERER 0.52 0.39 0.36 £
89 F—4 |m/idfhb 0.38 0.31 0.30|lEN FEE 10cm)
0| F—4 |HENREZEL S—EEHIZRK - 0.22 0.23|lEN FEE 40cm)
91 F—4 [fEEZEAEUE2—HI 0.46 0.35 0.29 Eh
92 F—5 SEHEEHR (289M5500mA LA HE) 0.32 0.28 0.30|F (}8E 10cm)
93 F—5 [ZERAREER — 0.30 0.39|EF (FE 50cm)
94 F—5 [RBt 42—Z]RHl 0.20 0.22 0.24[|Z2Y (FEE 25cm)
95 F—5 |[ZRIGKRBEY /0t 0.21 0.27 0.26|F (FEE 10cm)
96 F—6 = LEKMAO — 0.23 0.22|EF (3L 50cm)
97 F—6  [MIEBHUGETFER 0.29 0.33 0.34[|F (FEE 25cm)
98 F—6 BB IR/ \REH T 0.28 0.32 0.33 Y]
99 G—1 REF (FAE-KXEKIE) — 0.10 0.14[F (FEE 45cm)
100 G—3 |FAEA LEIEIS 0.21 0.19 0.17|BEh FEE 5cm)
101 G—4 |&FKGRERGRISHT{T) 0.32 0.30 0.26|EN (FEE  8cm)
102] G—4 |EEEHhE — 0.20 0.21[lEN (BEE 40cm)
103] G—5 [HRBAAHGCEIEIG{fHA - - -| X ZFfETG
104] G—5 [BIFLEBEERTE 0.51 0.47 037|E (FFE 5cm)
105 G—6 | KEBEEXM 0.17 0.19 0.18 E3
106] G—6 [EHFTFE 0.32 0.30 027|E(FEE 20cm)
107) H—3 [MAFHyI[RHNE 0.20 0.20 0.16/Fh (EE  1cm)
108] H—4 [EECAHFLEZES 0.14 0.13 0.13|EEN (BEE 10cm)
109] H-—5 |[EmtEfIERcEdEIIFL) — 0.20 0.20|E(3EE 40cm)
110/ H—6 [XZERIEHhDE 0.19 0.18 0.19] E(#EE20cm)
111 1—3 Fapoof(G2) 0.22 0.16 0.17[®mn &EE20cm-k5cm)
112 1—4 BFXS RISV HRTILAONMME - - 0.06| N (BEE100cm)
113 1—4 EEIEICN) 0.09 0.09 009|E (FFE 5cm)
114 1—4 BRORTr ITHEAO - - -|BEEDABITAA
115 1—4 IBAELE B AR R A5 m UKE S A) — 0.08 0.07|F (FEE 50cm)
116] J—5 |FEWLEEIS 0.12 0.10 0.10|EF (##8E 20cm)
117] K—38 HFhor)LAOEEE - — 0.05|BEH (FEE100cm)
118 K—3 BFIUWTE - — 0.04[2Y (24/11/13815E)
119 K—3 [JIRHMEfhk — — 0.08|2Y (24/11/138I5%)
120 K—38 | XEREHBMA - - 0.05|Eh FEE 60cm)
121 K—4 |iE — — 0.17|BEN (24/ 8/ 58IFE)
122 K—4 |i3E — — 0.05|BE1 (24/ 8/ 58IFE)
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